VO QuBee

MB200 Hand Rail Mounting Bracket

Installation Instructions

I contross.

Satellite Solutions for Mobile Markets

11200 Hampshire Avenue South, Bloomington, MN 55438-2453
Phone: (800) 982-9920 Fax: (952) 922-8424

www.kingcontrols.com

20627 REV B



1. Please unpack and verify all components are included, and read thru the instructions to
familiarize yourself with the assembly before beginning the installation (Fig. 1).

Short Arm

Long Arm (B)

Upper Pole @7

Washer
Nut

Platform

Short Carriage Bolt

Medium
Carriage Bolt

=
o
=
o)
S
o
D

(D) Washer
(E) Lock Washer

e Nut

Stabilizing
Bracket

it

Part # | Qty. Part Description
A | 10181] 1 Platform
B | 20464| 2 Long Arm
C | 20534 | 12 | Long Carriage Bolt, 5/16-18 x 3 %"
D | 6412 | 12 | Washer, SS, 5/16
E | 20479| 12 | Lock Washer, SS, 5/16
F | 20073| 12 | Nut, SS, 5/16-18
G| 20517 | 1 Upper Pole
H | 20516 1 Lower Pole
| | 1064 | 2 Nut, SS, ¥-20 Nylock
J | 20518( 1 Medium Carriage Bolt, 4-20 x 2"
K | 20465| 4 Short Arm
L | 10185] 1 Stabilizing Bracket
M| 20478| 1 Short Carriage Bolt, - 20 x 5/8"
N | 10355 2 Washer, SS, %

Page 1




Adjust height of arms
so top of VuQube is
4" a minimum of 4"

above cab.

Adjust upper arms
on pole as
necessary.

{.

Adjust lower arms
on hand rail as
necessary.

Lower arms should be as
far apart as possible for
maximum stability.

Page 2



CORRECT CORRECT
Minimum of 4" clearance above Mounted away from objects that may
highest part of cab roof. block signal such as smoke stacks,

brackets, beacons, logistic devices, etc.

N\ ? 4" Clearance

R

Southern Sky
with Satellites

INCORRECT!
VuQube mounted too low.
Cab may block signal from
reaching VuQube.

Page 3




2. Secure the lower pole (H) to the hand rail with the short arms (K), long carriage bolts (C),
washers (D), lock washers (E) and nuts (F) (Fig. 4).

=

Hand rail or stable
vertical pole/rail ——— (8

(MUST BE ATTACHED TO \ +——H) Lower Pole

THE CAB, NOT THE
HEADACHE RACK!) \é
(4) Short Arm S S
\\@F

(8) Washer \é )
(8) Lock Washer @Q % % = (8) Long Carriage Bolt

3. Secure the platform (A) to the upper pole (G) with the long arms (B), long carriage bolts (C),
washers (D), lock washers (E) and nuts (F) (Fig. 5).

The stabilizing bracket adheres to the back of the vehicle and fastens to one of the square
holes in the platform. Make sure one of the square holes faces the back of the vehicle.

Square hole must
face back of vehicle

Upper Pole @—




4. Secure the upper pole (G) to the lower pole (H) with the medium carriage bolt (J), washer (N)
and nut (1) (Fig. 6).

Fig. 6
Upper Pole (G—

/&L@ Medium Carriage Bolt
Washer
Nut

RS

5. TEMPORARILY place the VuQube in position on the platform (threaded studs on VuQube will
go thru matching holes in platform). Verify VuQube is at correct height and stabilizing bracket
will reach back of vehicle. (Stabilizing bracket will slide along slot to reach back of vehicle.)
Remove VuQube from platform.

If not at correct height, REMOVE VUQUBE FROM PLATFORM FIRST, then adjust height of
assembly as necessary. Repeat step 5 as necessary.

6. Use alcohol to thoroughly clean the area where the adhesive on the bracket will contact the
vehicle.

Page 5



7. Fasten the stabilizing bracket (L) to the platform with the short carriage bolt (M), washer (N)
and nut (I). DO NOT TIGHTEN COMPLETELY. BRACKET SHOULD SLIDE BACK AND
FORTH ALONG SLOT (Fig. 7).

8. Remove the protective tape from adhesive strips on bracket and press firmly onto the vehicle.

9. Tighten nut.

10. Allow adhesive to dry 20 minutes.

Clean area where
adhesive strips will
adhere to cab.

11. Install the VuQube as shown in the VuQube Installation and Operating Instructions.

Page 6



\/OQuee

11200 Hampshire Avenue South, Bloomington, MN 55438-2453
Phone: (800) 982-9920  Fax: (952) 922-8424

www.kingcontrols.com

NE Covrmos



